m RC 200, silver, ABS - IKD 2022 <2022><AR><F5142V2>

SHOCK ABSORBER
57881
Pos Part Number Description Additional Text Quantity

1 94604010044 SHOCKABSORBER REAR 1.00
2 J020100806 SHCS M10x1.25x80 - 10.9 1.00
3 J900001006200 BOLT FLANGED M10X1.25 1.00
4 90104010003 PLAIN WASHER 10,2X20X3MM 2.00
5 90104010002 flanged hex nut M10x1.25 WS13 1.00
6 94606010000 PROTECTOR SHOCKABSORBER 1.00
7 J900000601402 SCREW BUTTON HEAD STEP M6X1 2.00




